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H: o200 Mol
2210 ALHASSY
& 211 WAL+ (29 &)
Z-#-8-2 0l &t o pIE-E" HZE2
ES Al 14,051,078 13,869,709 181,369
200 Al2l==2 14,051,078 13,869,709 181,369
210 24 EMel = 4,611,789 4,578,585 33,204
211 a2 761,249 736,643 24,606
211-02 SRMLAUHE 757,249 732,643 24,606
[ Letsl A ] 757,249 732,643 24,606
<gXtelFEa > 489,058 464,452 24,606
O L2 S AAEEZ(11HA) Z2 & 129,202,000& 129,202 104,596 24,606
212 A2 +Y 1,010,573 1,004,573 6,000
212-08 JIEtAtE & 465,794 459,794 6,000
[ LBrs A ] 465,794 459,794 6,000
<gXel¥EEH > 6,000 0 6,000
O SU&EdL ZHE AER 6,000,000& * 14 6,000 0 6,000
216 Ol Xt==¢ 1,012,598 1,010,000 2,598
216-06 JIEHOI Xt ==& 12,598 10,000 2,598
[ B3 ] 12,598 10,000 2,598
< FR=EXA > 2,598 0 2,598
O XNAASIMEBIASEXALY GE S 240Xt 2,598,580 2,598 0 2,598
220 SAEMEL = 9,439,289 9,291,124 148,165
224 JIEt==¢ 4,738,314 4,590, 149 148,165
224-06 122 4,706,314 4,558, 149 148,165
[ B3 ] 4,706,314 4,558, 149 148,165
<JlEses > 2,000 0 2,000
OXsd HEE "It A2 Al&3 2,000,000& 2,000 0 2,000
< FRU=EXA > 51,412 0 51,412
O 2016\ 8121, ULINSER NS 0IES HA O ©
E Hdz= & 240X 13,311,350& 13,311 0 13,311
O 20154 BIYINSER 2R 0IES HAH B2 =
= 4,102,000& 4,102 0 4,102
O 2014 BIYINSER 222 0IES HAH B2 =
= 4,342,000& 4,342 0 4,342
O 20134 SYIISER N2RA UIES HKH B2 =2
= 858,000& 858 0 858
O 20178 T2 =2 UAAEAY BX3 LH0IX 242,410& 242 0 242
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H: o200 Mol
Bo200 AR MRS
&1 224 JIEI 4 (29l &2)
Z-#-8-2 0l &t o pIE-E" HZE2
O 20178 X E4E 23H ZHEXLS LH0IX 47,5003 47 0 47
O 20178 JIAMZHELEXNAIEEXZ LMOI L 231,630& 231 0 231
O 201748 KEABRIAY HYSES LMK 1,000 1 0 1
O XNYGASIMBIASZXRALY GE S & & & 28,278,200& 28,278 0 28,278
<Y XelHEEH > 9,911 1,458 8,453
O H0te sty S2AEY 6,000,000& » 14 6,000 0 6,000
O 20178 SOR=A ZTIO@ 2AANY B L 0T
1,150,550& » 14 1,150 0 1,150
O 20174 QICIJ 4 SEHAE L OHE NHAY & o
Ol Xt 303,850& 303 0 303
O 20178 nEEstils =2 243 1,000,000& * 13l 1,000 0 1,000
< &L > 167,383 107,383 60,000
O 3= AMEIENH 2& NI 23 30,000,000& = 202 60,000 0 60,000
<ERL > 26,300 0 26,300
O H

73 M2 SAMNLEH XNAHA (WEDEEXR J1&2 A
= 26,300,000& 26,300 0 26,300




